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Multipliziere Dezimalzahlen mit negativen
Zehnerpotenzen

9487,3 % 0.001 =

7767,7x0.1 =

9669, 5 x 0.001 =

3095,9 % 0.01 =

1131,7 % 0.001 =

5291,5 % 0.01 =

3119,2 x0.0001 =

3154,8 x0.1 =

Datum: Ergebnis:

3377,1x0.001 =

6222,3 x 0.001 =

4415,8 < 0.1 =

3549,2 % 0.01 =

7642,2 x 0.1 =

9494, 5 x 0.001 =

6721,6 x0.01 =

5474 x 0.001 =

5745,7 % 0.0001 =

1513,1 x0.1 =

8417,4 x0.001 =

6515 % 0.0001 =
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Name: Datum: Ergebnis:

9487,3 x 0.001 = 9.4873 3377,1x0.001 =3.3771

7767,7 0.1 =776.77 6222,3 x 0.001 = 6.2223

9669, 5 x 0.001 = 9.6695 4415,8 x 0.1 = 441.58

3095,9 % 0.01 = 30.959 3549,2 x 0.01 = 35.492

1131,7 x0.001 = 1.1317 7642,2 x 0.1 =764.22

5291,5 x0.01 =52.915 9494, 5 x 0.001 = 9.4945

3119,2 x0.0001 =0.31192 6721,6 < 0.01 =67.216

3154,8 x 0.1 =315.48 1513,1 x0.1 =151.31

5474 x 0.001 = 5.474 8417,4 x 0.001 = 8.4174

5745,7 % 0.0001 = 0.57457 6515 % 0.0001 = 0.6515
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